
3

A6

2

A7

1

A7

4

A6

3

A7

OVERFRAMEOVERFRAMEOVERFRAMEOVERFRAME

OVERFRAMEOVERFRAMEOVERFRAMEOVERFRAME

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 2' - 0"2' - 0"2' - 0"2' - 0" 23' - 6"23' - 6"23' - 6"23' - 6" 32' - 0"32' - 0"32' - 0"32' - 0" 23' - 6"23' - 6"23' - 6"23' - 6" 2' - 0"2' - 0"2' - 0"2' - 0"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0"

87' - 0"87' - 0"87' - 0"87' - 0"

3
4

' -
 0

"
3

4
' -

 0
"

3
4

' -
 0

"
3

4
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

3
0

' -
 0

"
3

0
' -

 0
"

3
0

' -
 0

"
3

0
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 25' - 6"25' - 6"25' - 6"25' - 6"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 28' - 0"28' - 0"28' - 0"28' - 0"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 25' - 6"25' - 6"25' - 6"25' - 6"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0"

1
4

' -
 1

1
 9

/
1

6
"

1
4

' -
 1

1
 9

/
1

6
"

1
4

' -
 1

1
 9

/
1

6
"

1
4

' -
 1

1
 9

/
1

6
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

1
0

' -
 1

1
 9

/
1

6
"

1
0

' -
 1

1
 9

/
1

6
"

1
0

' -
 1

1
 9

/
1

6
"

1
0

' -
 1

1
 9

/
1

6
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

1' - 2 7/16"1' - 2 7/16"1' - 2 7/16"1' - 2 7/16"22' - 3 5/16"22' - 3 5/16"22' - 3 5/16"22' - 3 5/16"

8' - 2 1/4"8' - 2 1/4"8' - 2 1/4"8' - 2 1/4"10' - 0 1/8"10' - 0 1/8"10' - 0 1/8"10' - 0 1/8"12' - 6 1/8"12' - 6 1/8"12' - 6 1/8"12' - 6 1/8"

2X12's @ 12" OC2X12's @ 12" OC2X12's @ 12" OC2X12's @ 12" OC

30' - 8 1/2"30' - 8 1/2"30' - 8 1/2"30' - 8 1/2"

12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL:

4

A7

1
5

' -
 0

"
1

5
' -

 0
"

1
5

' -
 0

"
1

5
' -

 0
"

1
5

' -
 0

"
1

5
' -

 0
"

1
5

' -
 0

"
1

5
' -

 0
"

11111111----7/8" 210 TJI @ 16" OC 7/8" 210 TJI @ 16" OC 7/8" 210 TJI @ 16" OC 7/8" 210 TJI @ 16" OC 

9999----1/2" LVL 1/2" LVL 1/2" LVL 1/2" LVL 

BLOCKING @ RIMBLOCKING @ RIMBLOCKING @ RIMBLOCKING @ RIM

(4) 11(4) 11(4) 11(4) 11----7/8" LVL FLUSH CONTINUOUS TO SPAN7/8" LVL FLUSH CONTINUOUS TO SPAN7/8" LVL FLUSH CONTINUOUS TO SPAN7/8" LVL FLUSH CONTINUOUS TO SPAN

F
O

F
F

O
F

F
O

F
F

O
F

4' - 1 1/2"4' - 1 1/2"4' - 1 1/2"4' - 1 1/2" 6' - 6 1/2"6' - 6 1/2"6' - 6 1/2"6' - 6 1/2"

2
 1

/
2

"
2

 1
/

2
"

2
 1

/
2

"
2

 1
/

2
"

5
' -

 3
"

5
' -

 3
"

5
' -

 3
"

5
' -

 3
"

4
' -

 2
"

4
' -

 2
"

4
' -

 2
"

4
' -

 2
"

5
 1

/
2

"
5

 1
/

2
"

5
 1

/
2

"
5

 1
/

2
"

FOFFOFFOFFOF

1
1

1
1

1
1

1
1

-- --
7

/
8

" 
L

V
L

7
/

8
" 

L
V

L
7

/
8

" 
L

V
L

7
/

8
" 

L
V

L

11111111----7/8" LVL7/8" LVL7/8" LVL7/8" LVL

S3

7

/5 S3

F
O

F
F

O
F

F
O

F
F

O
F

TYPICAL UONTYPICAL UONTYPICAL UONTYPICAL UON

SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1

SHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDI----FLOOR, EXP1 FLOOR, EXP1 FLOOR, EXP1 FLOOR, EXP1 

11111111----7/8" LVL7/8" LVL7/8" LVL7/8" LVL

1
1

1
1

1
1

1
1

-- --
7

/
8

" 
L

V
L

7
/

8
" 

L
V

L
7

/
8

" 
L

V
L

7
/

8
" 

L
V

L

2x62x62x62x6

2x62x62x62x6

2
x

6
2

x
6

2
x

6
2

x
6 ELEVATOR ELEVATOR ELEVATOR ELEVATOR 

SHAFTSHAFTSHAFTSHAFT

SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP) SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)

H2.5H2.5H2.5H2.5 H2.5H2.5H2.5H2.5

DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE 

VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL: /3 S4
DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE 

VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL: /3 S4

EXISTING ROOFEXISTING ROOFEXISTING ROOFEXISTING ROOF

EXISTING 

EXISTING 

EXISTING 

EXISTING 

ROOF
ROOF
ROOF
ROOF

D C C

D

D

D

AAAAAA

D

D

D

D

CC C

C C C

FOFFOFFOFFOF

FOFFOFFOFFOF

CORBEL PER CORBEL PER CORBEL PER CORBEL PER 

DETAIL: DETAIL: DETAIL: DETAIL: /4 S4

CORBEL PER CORBEL PER CORBEL PER CORBEL PER 

DETAIL: DETAIL: DETAIL: DETAIL: /4 S4

CORBEL PER CORBEL PER CORBEL PER CORBEL PER 

DETAIL: DETAIL: DETAIL: DETAIL: /4 S4

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

3
0

' -
 0

"
3

0
' -

 0
"

3
0

' -
 0

"
3

0
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

1
0

' -
 1

"
1

0
' -

 1
"

1
0

' -
 1

"
1

0
' -

 1
"

10' - 8"10' - 8"10' - 8"10' - 8"21' - 4"21' - 4"21' - 4"21' - 4"

12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL:12 TRUSS'S @ 24" OC PER DETAIL: /5 S3

ALL STEEL TO STEEL CONNECTIONS ARE 3/16" FILLET WELD ALL AROUND TYP.ALL STEEL TO STEEL CONNECTIONS ARE 3/16" FILLET WELD ALL AROUND TYP.ALL STEEL TO STEEL CONNECTIONS ARE 3/16" FILLET WELD ALL AROUND TYP.ALL STEEL TO STEEL CONNECTIONS ARE 3/16" FILLET WELD ALL AROUND TYP.

SPECIAL INSPECTION OF ALL FIELD WELD IS REQUIRED BY THE STRUCTURAL ENGINEERSPECIAL INSPECTION OF ALL FIELD WELD IS REQUIRED BY THE STRUCTURAL ENGINEERSPECIAL INSPECTION OF ALL FIELD WELD IS REQUIRED BY THE STRUCTURAL ENGINEERSPECIAL INSPECTION OF ALL FIELD WELD IS REQUIRED BY THE STRUCTURAL ENGINEER

SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL SIM (3) 11SIM (3) 11SIM (3) 11SIM (3) 11----7/8" LVL7/8" LVL7/8" LVL7/8" LVL

5555
----1

/4
" S

Q
 P

SL

1
/4

" S
Q

 P
SL

1
/4

" S
Q

 P
SL

1
/4

" S
Q

 P
SL

EC
C

Q
5

EC
C

Q
5

EC
C

Q
5

EC
C

Q
5

----6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

5555
----1

/4
" SQ

 PSL

1
/4

" SQ
 PSL

1
/4

" SQ
 PSL

1
/4

" SQ
 PSL

EC
C
Q

5

EC
C
Q

5

EC
C
Q

5

EC
C
Q

5
----6

SD
2
.5

6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

(4
) 2

x6

(4
) 2

x6

(4
) 2

x6

(4
) 2

x6B
UC

B
UC

B
UC

B
UC

(4
) 2

x6

(4
) 2

x6

(4
) 2

x6

(4
) 2

x6B
UC

B
UC

B
UC

B
UC (4

) 2
x6

(4
) 2

x6

(4
) 2

x6

(4
) 2

x6

B
UC

B
UC
B

UC
B

UC 5555
----1

/4
" S

Q
 P

SL

1
/4

" S
Q

 P
SL

1
/4

" S
Q

 P
SL

1
/4

" S
Q

 P
SL

EC
C

Q
5

EC
C

Q
5

EC
C

Q
5

EC
C

Q
5

----6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

5555----1
/4

" SQ
 PSL

1
/4

" SQ
 PSL

1
/4

" SQ
 PSL

1
/4

" SQ
 PSL

EC
C
Q

5

EC
C
Q

5

EC
C
Q

5

EC
C
Q

5
----6

SD
2
.5

6
SD

2
.5

6
SD

2
.5

6
SD

2
.5

16' - 0"16' - 0"16' - 0"16' - 0"16' - 0"16' - 0"16' - 0"16' - 0"

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

EC
C
O

T

EC
C
O

T

EC
C
O

T

EC
C
O

T

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

H1
=8

 1
/2

"

H1
=8

 1
/2

"

H1
=8

 1
/2

"

H1
=8

 1
/2

"

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

EC
C
O

T

EC
C
O

T

EC
C
O

T

EC
C
O

T

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

W
1
=5

 1
/8

" W
2
=7

 1
/8

" 

H1
=8

 1
/2

"

H1
=8

 1
/2

"

H1
=8

 1
/2

"

H1
=8

 1
/2

"

(2
) 2

x6

(2
) 2

x6

(2
) 2

x6

(2
) 2

x6

B
UC

B
UC
B

UC
B

UC

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

HSS4
x4

x1
/4

C
C
O

7
 1

/8

C
C
O

7
 1

/8

C
C
O

7
 1

/8

C
C
O

7
 1

/8

ITS2.06/11.88ITS2.06/11.88ITS2.06/11.88ITS2.06/11.88

55 55
-- --
1

/
8

"x
2

7
" 

G
L

 F
L

U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

55 55
-- --
1

/
8

"x
2

7
" 

G
L

 F
L

U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

1
/

8
"x

2
7

" 
G

L
 F

L
U
S

H
 B

O
T

T
O

M
 C

O
N

T
IN

U
O

U
S

 T
O

 S
P

A
N

6

S4

6

S4

SIMSIMSIMSIM
5

S4

6

S4

TYP. EACH SIDE OF TYP. EACH SIDE OF TYP. EACH SIDE OF TYP. EACH SIDE OF 

DOOR UNLESS < 3'DOOR UNLESS < 3'DOOR UNLESS < 3'DOOR UNLESS < 3'----0"0"0"0" 5

S4

* = DELETE BOTTOM * = DELETE BOTTOM * = DELETE BOTTOM * = DELETE BOTTOM 

PLATE @ HEADER PLATE @ HEADER PLATE @ HEADER PLATE @ HEADER 

FOR 8' 0FOR 8' 0FOR 8' 0FOR 8' 0----1/2" R.O.1/2" R.O.1/2" R.O.1/2" R.O.

******** ****

10' - 2 1/4"10' - 2 1/4"10' - 2 1/4"10' - 2 1/4" 4' - 0"4' - 0"4' - 0"4' - 0"

LSL RIM (TYP.)LSL RIM (TYP.)LSL RIM (TYP.)LSL RIM (TYP.)

11111111----7/8" LVL'S 7/8" LVL'S 7/8" LVL'S 7/8" LVL'S 

@ 16" OC@ 16" OC@ 16" OC@ 16" OC

NOTE: ADDITIONAL LVL'S FOR NOTE: ADDITIONAL LVL'S FOR NOTE: ADDITIONAL LVL'S FOR NOTE: ADDITIONAL LVL'S FOR 

OPTIONAL ANCHORED STONE OPTIONAL ANCHORED STONE OPTIONAL ANCHORED STONE OPTIONAL ANCHORED STONE 

VENEER @ FIREPLACEVENEER @ FIREPLACEVENEER @ FIREPLACEVENEER @ FIREPLACE

ITS1.81/11.88 (TYP.4)ITS1.81/11.88 (TYP.4)ITS1.81/11.88 (TYP.4)ITS1.81/11.88 (TYP.4)

8' - 0"8' - 0"8' - 0"8' - 0"

IT IS RECOMMENDED IT IS RECOMMENDED IT IS RECOMMENDED IT IS RECOMMENDED 

TO DOUBLE TJI'S OR TO DOUBLE TJI'S OR TO DOUBLE TJI'S OR TO DOUBLE TJI'S OR 

USE LVL'S @ KITCHENUSE LVL'S @ KITCHENUSE LVL'S @ KITCHENUSE LVL'S @ KITCHEN

NOTE:  (3) 11NOTE:  (3) 11NOTE:  (3) 11NOTE:  (3) 11----7/8" LVL HEADER @ WEST WALL IS CONTINUOUS FOR 83' LENGTH 7/8" LVL HEADER @ WEST WALL IS CONTINUOUS FOR 83' LENGTH 7/8" LVL HEADER @ WEST WALL IS CONTINUOUS FOR 83' LENGTH 7/8" LVL HEADER @ WEST WALL IS CONTINUOUS FOR 83' LENGTH 

LVL SPLICES TO BE STAGGERED AND ONLY OCCUR OVER RESTRAINT PANELS.  LVL SPLICES TO BE STAGGERED AND ONLY OCCUR OVER RESTRAINT PANELS.  LVL SPLICES TO BE STAGGERED AND ONLY OCCUR OVER RESTRAINT PANELS.  LVL SPLICES TO BE STAGGERED AND ONLY OCCUR OVER RESTRAINT PANELS.  

NAL (2) ROWS SDS SCREWS @ 16" OC EACH FACE PER TJI ASSEMBLY BNAL (2) ROWS SDS SCREWS @ 16" OC EACH FACE PER TJI ASSEMBLY BNAL (2) ROWS SDS SCREWS @ 16" OC EACH FACE PER TJI ASSEMBLY BNAL (2) ROWS SDS SCREWS @ 16" OC EACH FACE PER TJI ASSEMBLY B

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 2' - 0"2' - 0"2' - 0"2' - 0" 28' - 0"28' - 0"28' - 0"28' - 0" 2' - 0"2' - 0"2' - 0"2' - 0"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
6

' -
 0

"
2

6
' -

 0
"

2
6

' -
 0

"
2

6
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
6

' -
 0

"
2

6
' -

 0
"

2
6

' -
 0

"
2

6
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

O
H

O
H

O
H

O
H

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

2
' -

 0
"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0" 2' - 0"2' - 0"2' - 0"2' - 0" 28' - 0"28' - 0"28' - 0"28' - 0" 2' - 0"2' - 0"2' - 0"2' - 0"

OHOHOHOH

2' - 0"2' - 0"2' - 0"2' - 0"

1
4

 T
R

U
S

S
E

S
 @

2
4

" 
O

C
 P

E
R

 D
E

T
A

IL
: 

1
4

 T
R

U
S

S
E

S
 @

2
4

" 
O

C
 P

E
R

 D
E

T
A

IL
: 

1
4

 T
R

U
S

S
E

S
 @

2
4

" 
O

C
 P

E
R

 D
E

T
A

IL
: 

1
4

 T
R

U
S

S
E

S
 @

2
4

" 
O

C
 P

E
R

 D
E

T
A

IL
: 

S3

7

/
6

S
3

TYPICAL UONTYPICAL UONTYPICAL UONTYPICAL UON

SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1SHEATH ROOFS WITH 5/8" PLY APA 40/20, EXP 1

SHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDISHEATH FLOORS WITH 24 OC STURDI----FLOOR, EXP1 FLOOR, EXP1 FLOOR, EXP1 FLOOR, EXP1 

SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)SOLID BLOCKING (TYP)

H2.5H2.5H2.5H2.5

DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE DOG HOUSE RIDGE 

VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL:VENT PER DETAIL: /3 S4

CHIMNEYCHIMNEYCHIMNEYCHIMNEY

DDD

D D D

CRIPPLECRIPPLECRIPPLECRIPPLE

22"x30" MIN. ATTIC ACCESS PANEL 22"x30" MIN. ATTIC ACCESS PANEL 22"x30" MIN. ATTIC ACCESS PANEL 22"x30" MIN. ATTIC ACCESS PANEL 

REQUIRED @ BATHROOM OR UTILITY ROOM.REQUIRED @ BATHROOM OR UTILITY ROOM.REQUIRED @ BATHROOM OR UTILITY ROOM.REQUIRED @ BATHROOM OR UTILITY ROOM.

MIRRORMIRRORMIRRORMIRROR
ROOFING, PER PLANROOFING, PER PLANROOFING, PER PLANROOFING, PER PLAN

2X4 RAFTERS2X4 RAFTERS2X4 RAFTERS2X4 RAFTERS

@ 24" OC MAX.@ 24" OC MAX.@ 24" OC MAX.@ 24" OC MAX.

2X42X42X42X4

DRIP EDGEDRIP EDGEDRIP EDGEDRIP EDGE

1X4 FASCIA1X4 FASCIA1X4 FASCIA1X4 FASCIA

CONTINUOUSCONTINUOUSCONTINUOUSCONTINUOUS

1/8" SQ MESH1/8" SQ MESH1/8" SQ MESH1/8" SQ MESH

FLASHINGFLASHINGFLASHINGFLASHING

2X42X42X42X4

MAINTAIN AIR FLOW

MAINTAIN AIR FLOW

MAINTAIN AIR FLOW

MAINTAIN AIR FLOW

6"6"6"6"

1' - 0"
1' - 0"
1' - 0"
1' - 0"

CCCCLLLL

(3)3/4"Ø T(3)3/4"Ø T(3)3/4"Ø T(3)3/4"Ø T----BOLTSBOLTSBOLTSBOLTS

(TYP.4 PLACES)(TYP.4 PLACES)(TYP.4 PLACES)(TYP.4 PLACES)

PLATE 110'PLATE 110'PLATE 110'PLATE 110'----4"4"4"4"

(4) 2X6's OR(4) 2X6's OR(4) 2X6's OR(4) 2X6's OR

6X6 COLUMN6X6 COLUMN6X6 COLUMN6X6 COLUMN

 IN FRAMED WALL IN FRAMED WALL IN FRAMED WALL IN FRAMED WALL

THRUTHRUTHRUTHRU----BOLT 4x4 TIMBER X 32" LONG THRUBOLT 4x4 TIMBER X 32" LONG THRUBOLT 4x4 TIMBER X 32" LONG THRUBOLT 4x4 TIMBER X 32" LONG THRU

PLYWOOD SHEATHING INTO 6X6 OR (4) 2x6'S COLUMN IN WALL PLYWOOD SHEATHING INTO 6X6 OR (4) 2x6'S COLUMN IN WALL PLYWOOD SHEATHING INTO 6X6 OR (4) 2x6'S COLUMN IN WALL PLYWOOD SHEATHING INTO 6X6 OR (4) 2x6'S COLUMN IN WALL 

W/ (3) 3/4"Ø BOLTS.W/ (3) 3/4"Ø BOLTS.W/ (3) 3/4"Ø BOLTS.W/ (3) 3/4"Ø BOLTS.

CONNECT CORBEL TO 6X6 OR WALL CONNECT CORBEL TO 6X6 OR WALL CONNECT CORBEL TO 6X6 OR WALL CONNECT CORBEL TO 6X6 OR WALL 

W/ (4) 3/4"Ø X12" LAG BOLTS W/ 4" MIN PENETRATION.W/ (4) 3/4"Ø X12" LAG BOLTS W/ 4" MIN PENETRATION.W/ (4) 3/4"Ø X12" LAG BOLTS W/ 4" MIN PENETRATION.W/ (4) 3/4"Ø X12" LAG BOLTS W/ 4" MIN PENETRATION.

W
A

L
L

W
A

L
L

W
A

L
L

W
A

L
L

12121212

6666

SHEATH ROOFSHEATH ROOFSHEATH ROOFSHEATH ROOF

FLASHINGFLASHINGFLASHINGFLASHING

2x4 SHADOW BOARD2x4 SHADOW BOARD2x4 SHADOW BOARD2x4 SHADOW BOARD(2) 3/4"Ø LAGS(2) 3/4"Ø LAGS(2) 3/4"Ø LAGS(2) 3/4"Ø LAGS

4" MIN EMBED 4" MIN EMBED 4" MIN EMBED 4" MIN EMBED 

DRIP EDGEDRIP EDGEDRIP EDGEDRIP EDGE

2x12 FASCIA2x12 FASCIA2x12 FASCIA2x12 FASCIA

2x12 LEDGER2x12 LEDGER2x12 LEDGER2x12 LEDGER

W/LL358 SCREWS @ W/LL358 SCREWS @ W/LL358 SCREWS @ W/LL358 SCREWS @ 

12" OC 12" OC 12" OC 12" OC ----STAGGEREDSTAGGEREDSTAGGEREDSTAGGERED

W/U210 HANGERW/U210 HANGERW/U210 HANGERW/U210 HANGER

2x12 @ 24" OC2x12 @ 24" OC2x12 @ 24" OC2x12 @ 24" OC

4
x

4
4

x
4

4
x

4
4

x
4

4
x4

4
x4
4

x4
4

x4

2
' -

 8
"

2
' -

 8
"

2
' -

 8
"

2
' -

 8
"

4
"

4
"

4
"

4
"

6
 1

/
2

"
6

 1
/

2
"

6
 1

/
2

"
6

 1
/

2
"

1
' -

 4
"

1
' -

 4
"

1
' -

 4
"

1
' -

 4
"

5
 1

/
2

"
5

 1
/

2
"

5
 1

/
2

"
5

 1
/

2
"

8
 1

/
2

"
8

 1
/

2
"

8
 1

/
2

"
8

 1
/

2
"

1
' -

 1
1

 1
/

2
"

1
' -

 1
1

 1
/

2
"

1
' -

 1
1

 1
/

2
"

1
' -

 1
1

 1
/

2
"

UPPER LVLUPPER LVLUPPER LVLUPPER LVL

111'111'111'111'----4 5/8"4 5/8"4 5/8"4 5/8"

ROUGH OPENINGROUGH OPENINGROUGH OPENINGROUGH OPENING

10'10'10'10'----0" 0" 0" 0" 

(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS

5/8"Ø ALL5/8"Ø ALL5/8"Ø ALL5/8"Ø ALL----THREADTHREADTHREADTHREAD

 W/ 7" EMBEDMENT W/ 7" EMBEDMENT W/ 7" EMBEDMENT W/ 7" EMBEDMENT

& 3" EXPOSED& 3" EXPOSED& 3" EXPOSED& 3" EXPOSED

SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"

HD5B HOLDOWNHD5B HOLDOWNHD5B HOLDOWNHD5B HOLDOWN

8d NAILS @ 3"8d NAILS @ 3"8d NAILS @ 3"8d NAILS @ 3"

OC ALL PLATES,OC ALL PLATES,OC ALL PLATES,OC ALL PLATES,

HEADERS & STUDSHEADERS & STUDSHEADERS & STUDSHEADERS & STUDS

---- STAGGERED STAGGERED STAGGERED STAGGERED

7/16" PLYWOOD,7/16" PLYWOOD,7/16" PLYWOOD,7/16" PLYWOOD,

APA RATED APA RATED APA RATED APA RATED 

24/1624/1624/1624/16

OR SIP PANELOR SIP PANELOR SIP PANELOR SIP PANEL

(3) 2X6 STUDS(3) 2X6 STUDS(3) 2X6 STUDS(3) 2X6 STUDS

NAIL SHEATHINGNAIL SHEATHINGNAIL SHEATHINGNAIL SHEATHING

TO EACH STUDTO EACH STUDTO EACH STUDTO EACH STUD

NAIL SHEATHING TONAIL SHEATHING TONAIL SHEATHING TONAIL SHEATHING TO

HEADER @ 3" OCHEADER @ 3" OCHEADER @ 3" OCHEADER @ 3" OC

HEADER, PER PLANHEADER, PER PLANHEADER, PER PLANHEADER, PER PLAN

FULL LENGTHFULL LENGTHFULL LENGTHFULL LENGTH

CONTINUOUSCONTINUOUSCONTINUOUSCONTINUOUS

TOP PLATETOP PLATETOP PLATETOP PLATE

PLATE A/RPLATE A/RPLATE A/RPLATE A/R

(2) PT STUDS(2) PT STUDS(2) PT STUDS(2) PT STUDS

VARIOUSVARIOUSVARIOUSVARIOUS

3

S2

1

S2

CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"

CONC. WALLCONC. WALLCONC. WALLCONC. WALL

ROUGH OPENINGROUGH OPENINGROUGH OPENINGROUGH OPENING

10'10'10'10'----0" 0" 0" 0" 

(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS(2) 3/4"Ø BOLTS

5/8"Ø ALL5/8"Ø ALL5/8"Ø ALL5/8"Ø ALL----THREADTHREADTHREADTHREAD

 W/ 7" EMBEDMENT W/ 7" EMBEDMENT W/ 7" EMBEDMENT W/ 7" EMBEDMENT

& 3" EXPOSED& 3" EXPOSED& 3" EXPOSED& 3" EXPOSED

SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"SIMPSON "EPOXY TIE"

HD5B HOLDOWNHD5B HOLDOWNHD5B HOLDOWNHD5B HOLDOWN

8d NAILS @ 3"8d NAILS @ 3"8d NAILS @ 3"8d NAILS @ 3"

OC ALL PLATES,OC ALL PLATES,OC ALL PLATES,OC ALL PLATES,

HEADERS & STUDSHEADERS & STUDSHEADERS & STUDSHEADERS & STUDS

---- STAGGERED STAGGERED STAGGERED STAGGERED

7/16" PLYWOOD,7/16" PLYWOOD,7/16" PLYWOOD,7/16" PLYWOOD,

APA RATED 24/16APA RATED 24/16APA RATED 24/16APA RATED 24/16

OR SIP PANELOR SIP PANELOR SIP PANELOR SIP PANEL

(3) 2X6 STUDS(3) 2X6 STUDS(3) 2X6 STUDS(3) 2X6 STUDS

NAIL SHEATHINGNAIL SHEATHINGNAIL SHEATHINGNAIL SHEATHING

TO EACH STUDTO EACH STUDTO EACH STUDTO EACH STUD

NAIL SHEATHING TONAIL SHEATHING TONAIL SHEATHING TONAIL SHEATHING TO

HEADER @ 3" OCHEADER @ 3" OCHEADER @ 3" OCHEADER @ 3" OC

HEADER,HEADER,HEADER,HEADER,

PER PLANPER PLANPER PLANPER PLAN

FULL LENGTHFULL LENGTHFULL LENGTHFULL LENGTH

CONTINUOUSCONTINUOUSCONTINUOUSCONTINUOUS

TOP PLATETOP PLATETOP PLATETOP PLATE

PLATE A/RPLATE A/RPLATE A/RPLATE A/R

(2) PT STUDS(2) PT STUDS(2) PT STUDS(2) PT STUDS

VARIOUSVARIOUSVARIOUSVARIOUS

HEADER,HEADER,HEADER,HEADER,

PER PLANPER PLANPER PLANPER PLAN

FULL LENGTHFULL LENGTHFULL LENGTHFULL LENGTH

CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"

CONC. WALLCONC. WALLCONC. WALLCONC. WALL

CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"CONC. SLAB R.O. +6"

CONC. WALLCONC. WALLCONC. WALLCONC. WALL

3

S2

3

S2

1

S2

D
R

A
F

T
IN

G
 S

E
R

V
IC

E
, I

N
C

.
P

.O
. B

O
X

 7
7

4
1

2
1

4
2

6
 O

A
K

 S
T

R
E

E
T

S
T

E
A

M
B

O
A

T
 S

P
R

IN
G

S
, C

O
L

O
R

A
D

O
9

7
0

.8
7

9
.7

9
2

9
F

A
X

 9
7

0
.8

7
9

.8
7

0
9

JA
K

E
S

@
S

P
R

IN
G

S
IP

S
.C

O
M

"STRUCTURE ONLY"

Sheet Number

Job #
File
Date
Drawn
Checked
Rel'd
Rev'd

H
:\

p
r
o

j\
L

u
c

k
y
8

\
G

a
r
a

g
e

 2
\

1
8

0
2

6
c

o
n
3

.r
v

t
1

2
/

2
8

/
2

0
1

8
 3

:5
4

:3
5

 P
M

UP
P

E
R

 L
E

V
E

L
 F

L
O

O
R

 &
 R

O
O

F
 F

R
A

M
IN

G
 P

L
A

N
S

 &
 D

E
T

A
IL

S
 F

O
R

th
e

 L
UC

K
Y

 8
 R

A
N

C
H

 
th

e
 L

UC
K

Y
 8

 R
A

N
C

H
 

th
e

 L
UC

K
Y

 8
 R

A
N

C
H

 
th

e
 L

UC
K

Y
 8

 R
A

N
C

H
 -- --

 G
A

R
A

G
E

 2
 G

A
R

A
G

E
 2

 G
A

R
A

G
E

 2
 G

A
R

A
G

E
 2

2
3

8
5

0
 T

O
B

IA
N

O
 T

R
A

IL
R

O
UT

T
 C

O
UN

T
Y

 C
O

. 8
0

4
7

7
O

W
N

E
R

/C
O

N
T

R
A

C
T

O
R

 (
9

7
0

) 
8

4
6

-5
5

9
2

VWM
JMH

28DEC18

S4
SHEET         OF 15

18.026
18026S40

28DEC18

15 1/4" = 1'-0"1
UPPER LEVEL FLOOR, LOWER ROOF & BREEZEWAY ROOF FRAMING PLAN

E

W

S

 1/4" = 1'-0"2
UPPER ROOF FRAMING PLAN

 1 1/2" = 1'-0"3
DOGHOUSE RIDGE VENT DETAIL

 3/4" = 1'-0"4
CORBEL & DOOR ROOF DETAIL

 1" = 1'-0"6
END LATERAL RESTRAINT

 1" = 1'-0"5

LATERAL RESTRAINT BETWEEN

DOORS LESS THAN 3'-0" 12-31-2018


	Sheets
	A1 - BASEMENT LEVEL FLOOR PLAN & DETAILS
	A2 - MAIN LEVEL FLOOR PLAN & SCHEDULES
	A3 - UPPER LEVEL FLOOR PLAN & DETAILS
	A4 - ELEVATIONS
	A5 - ELEVATIONS
	A6 - SECTIONS
	A7 - SECTIONS
	C1 - SITE PLAN
	COV - COVER
	G1 - SPECIFICATIONS
	G2 - SPECIFICATIONS
	G3 - SPECIFICATIONS
	S1 - FOUNDATION PLAN
	S2 - FOUNDATION & STEEL DETAILS
	S3 - MAIN LEVEL FRAMING PLAN & DETAILS
	S4 - UPPER LEVEL FLOOR & ROOF FRAMING PLANS & DETAILS


